1. First of all I must note that formula (6.135) on page 51 of Your book is right IMHO if we divide it by

oyv/Te — t: supposing S; = Sy exp (o(At + Wy)), where A = £ — &, we get
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2. The second point is that the notation (6.142) of Ak is really wrong. There should be K instead of L.
Moreover IMHO I found more misprints... Take a look, e.g. for the call:
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Then we can write the following expressions for Q7 5:
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Pl* and Pj are the same as Yours in (6.148)—(6.149). The same problem we have in the case of put. Moreover I want

to say that the derivation above looks clear as well as the fact that the expression o +A =0+ £ — § =L — Z is very

natural for such formulas!



